Division par Puissances de Dix (B)

Trouvez chaque quotient.

8,9 + 10° = 6,36 ~ 10% =
8,621 + 10 = 2,1 +103=
7,0933 + 10" = 9,2942 + 10! =
9,6 +10% = 2,98 + 10! =
5,6408 = 10% = 1,8 + 102 =
6+ 10° = 6,12 + 101 =
9,414 + 10° = 2,9 +10% =

53 -+10% = 9,569 + 10°% =
54218 ~ 10 = 1,979 ~ 102 =
8,8566 + 10° = 1,6816 + 10% =
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Division par Puissances de Dix (B) Solutions

Trouvez chaque quotient.

8,9 + 10° =0,0089 6,36 + 10% = 0,0636
8,621 + 10' = 0,8621 2,1 +10°=0,0021
7,0933 + 10* = 0,70933 9,2942 + 10" = 0,92942
9,6 +~ 10*= 0,096 2,98 +~ 10' = 0,298
5,6408 + 10% = 0,056408 1,8 +10*=0,018

6+ 10%*= 0,06 6,12 +10' = 0,612
9,414 + 10° = 0,009414 2,9 +10%=0,029

5,3 +10%=0,053 9,569 + 10% = 0,009569
5,4218 + 10 =0,54218 1,979 + 10> =0,01979
8,8566 + 10% = 0,088566 1,6816 + 10* = 0,016816
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